AP Calewlus AR #1 Key
A) SIS 150 Sin (0. bat) dt

B) - jf A(DdE = 375.5369 vehicles/hour

¢y AY(1)=48.947. Since A’()>0,the rate
ok which vehicles arrive at the toll
plaza 15 Increasing ot 6AM.

D) N'®)= A(t) — 400

A(t) =400
L= 14069 +=3.54%

B)/ condidofes test

t | N(Y)

43| O
3.598| T1.a5%
H ©bd. 3353

> The qreafest number of vehicles
n e at the foll plaza wi [l
be 71 vehicles from l. 4094 < H.




AP Calewlus 2033 ABHL Key

A B= 0.781475144055
g = |- 330214639805

o
A ) [£00-9() T dx
A= 3.60354

B) h(x)=F0)-9(x)
h/(-0.5) = —0-6

.. h is decreasing ot x=—0.5 3since
W (x) <O here.

0) V= SEGH-ged[idx = 5.34010
-2

) Cross- sechon A=[F69-909]
et x=K be verfical line and %%:7
A0 A £~ 4RI F0- 9T $
AC-5)=2[FE5-9G5) (+C9-¢'G)(7)
= 2(2.20758 H6) (0.4-D(1)
= -9.27184




AP Calewlus Q09 AB#*3 Key
N Lo)= | F@d = £~ F(0)
° —ar = 3-10)
L= 3+

£(5)= [P0t = $B)-F()
+ = £(5-3
f£(5)=23.5

B) POL at =2 becavse £/ changes from decrasing
1o Increasing,

POL ab X=b becavse £/ changs From increasmg
1o decreasing.

05%/06:#”00—: x |o]2|4]5]e]|T
Jpo-0 ot geal[BTleT! o

decreasing on the inferval O=X=5

D) By candidates fest X O |5 |7
909 |ar-L5 Fo0.5

Abs. minimum value is —[.5 becavse g’(5):o
and 3/ changes from negative fo positive.
x [o |4]5 |e|7
I)[zar|3 13515165




AP Calewlus 3028 AB#H Key

A p#(8.5)= rto-r7) _~284 £4 _ 0.3 Cm
(9= 15 0-T 3 day4

B) r 15 twice differentiable, 80 r’is differentiable
Hherehre contindos. By The Infermediate Valve
Theorem There exists @ valve of & onthe
nfernal 0<t< 3 where r’(£)= o Since

r7(0)=—6.l and I(3)="5 ond

—(p.1< —0b <—5.
2 jiar/wdr = 3(-5) + 44 A+ 3(-3.8)+AC3Y
? = — (5= T.6— N4 =7
= -5l cm
D) ok t=3,r=100, h=50, 4= -2 4F="5
4V _ Ty df + 2 ah
ar arh 9 + 1 EGE]

Y

T
3L
T [2(00X(50(-5) + 1007 ()]
T [-50000 ~ 430%]

_ - 70000 Cm?

3 doy
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VAUV

¢
5) EE

Tange(rf Line
Y= Q+2(x~1)

£(0.9)= a+ = (0.8-D
2 a+2(B)
= 2= Yo
+(08)= 1.7
) £ >0, £ is concave Up on 0.8<X<|
oo tangert line lies below corve and
£(0.8) underestimaies.

D)S.Q_U[__ = Sj;’l— Si(\@:)() X

-2
T A

0

\I_gﬂ
Ay = ’—T'FCBQ%X)V‘C f?t{gﬁ,)'r T,
(41 = Eu En+g 0=06
o
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A VoD = Xp) = Lj_g
B) 0ql® = Val®= —_%23.

————
TE——

Va®)>0 Hor alk t>0 and Oql<o for T2
- Speed of @ Is decreasing for A t >0
since V>0 and 0gn<O (opposite signs) .

|
- A4l
= a-(4-1)
E‘Q(t)z 3—=
D) J\Oig\oo Xpld = & and \Jé/_gmyQ(f)=5

o Partice P will be farther from
the origin as & = w.



